Lesson 5 Quiz Name Date

A. Latin Saying

I am a Roman citizen.

B. Grammar Questions

1. The to be verb shows , nhot

2. The first two principal parts of the to be verb in Latin are

C. Conjugate the verb sum in the present, imperfect, and future tenses.

present stem: n/a

P Present Imperfect Future

1

2

3

D. Form Drills: Box any helping verbs (#4-6), parse, then translate.

1. érimus 4. they are
Person: Number: Person: Number:
Tense: Tense:
Translation: Translation:
2. erat 5. T will be
Person: Number: Person: Number:
Tense: Tense:
Translation: Translation:
3. estis 6. you (p) were
Person: Number: Person: Number:
Tense: Tense:
Translation: Translation:
E. Bonus

1. Are the personal endings of sum regular or irregular?

2. Is the infinitive of sum regular or irregular?
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